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EXAMINATION FOR INSURANCE SURVEYORS
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Answer eight Questlons only. Question one carries 16 Marks buit this is not compulsory
All other questions carry 12 marks each.
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1. a) Draw outa benefxt chart for a Personal Accident’ Insurance Cover ‘10 ,'
~assuming the sum insured to be Rs. 1,50,000
b) . Which are deemned as free add-on covers under the Ind1v1dual Pcrsonal 3
Accident Insurance policy. -
) c) What is the role of assignment in Personal Accident Insurance" : 3
2. ‘mmmﬁﬁm%mﬁmm:ﬁmwmﬁ@aﬁmﬁm 12
2. Which factors are taken into con51derat10n by an Insurance Company forb L2
- uniderwriting Money Insurance Proposal? ‘ : _
3. ’memﬁwmm» o R ¥
3. Write a detailed note on office protection shie;ld‘ - o ' 12

113




2 . S-07
ﬁ%ﬁwm%ﬁmﬁmaﬂmml (RF ¥ 3 3)
i) ST/ 8. ’

C i) m@ﬁamm
iii) ﬂé@;é’mﬂ
iv) AR TR

Deﬁne the following terms Wthh are used in Medlclanm Pohcy . 3each
i) -Hospital/Nursing Home. ' ks
ii) Domiciliary Hospitalisation benefit

iii) -Any one illness

1v) Medlcal Practitioner.
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Enumerate the features constituting an efficient system for control and 12
supervision to be used by an employer to prevent/reduce losses mvolvmg :
“dishonest .or criminal activity on the part of employees. Computers are.,
used.extensively in the said organisation.
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Explain the fol]owmg in rcspect of a Banker's, Blanket Insurance Pohcy 3 each :
a) Basic suminsured .
b) Additional sum insured

.¢) Excess

d) = Reinstatement
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Mention some of important excihslions of Jewellers' Block Insurance. - 12
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Narrate the cover avallab]e under the followmg Sections of the overseas 4 each '

~mediclaim Policy:

a) Delay checked-in Baggage Coyer
b). - Loss of Passport Cover
c). -Personal Liability Cover
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Write short notes on any three of the followmg - : 4 each

a) Valued Policy

b)  Agricultural Pump Set Policy :

¢)  Matrnity benefit extension under group Medlclaxm Pollcy
d)  Special contingency Insurance.

€) Tertiary Care Insurance.
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A money policy was lssued with a per carrymg limit of Rs. 25,00 000
and the estimated annual carrying of Rs, 3-crores. An employee of

the .insured was. returning with cash of Rs. 30,00,000 distributed
equally in two bags. One of the bags was stolen in a hold-up.’

What would be the amount of claim payable?

A Burglary declaration policy has been issued for-a sum msured of
Rs. 1 crore at a premium rate of 0.10%. The Insurance company

received 12 declarations from the Insured totalling Rs. 5,40, 00 000.

What would be the amount of refund, if any?

The Insured had 3 personal Accident insurance policies. First for_

Rs. 1,00, 000 Second for Rs. 2, 00,000 and the third for Rs 3,00,000,

In an accident the insured lost completely and permanently use of
one hand. As per doctor's opmmn loss of earning capacity for the
Insured was 60%.

What would be the amount of claim payable?

‘A floater fidelity guarantee policy has been issued for Rs. 10,00,000
covering 20 employees.

Rs, 10

Calculate the amount of premium.
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The premium rate determined was 0. /5% with per capita loadmg of -

. 8-07
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